SUMMARY PRACTICE TEST CHAPTER 14

1.

Amount financed = Purchase Price – Down payment

$42,500 – $16,000 = $26,500
Total of monthly payments = # of monthly payments * Amount monthly payment

60 * $510 = $30,600
Total finance charge = Total of monthly payments – Amount financed

$30,600 – $26,500 =$4,100
2.

N=12

I%=10

PV=599

(Purchase price – down payment = $699 – $100)

PMT=0 alpha solve –52.661616

FV=0

P/Y=12

C/Y=12

Answer: Payment will be $52.66 per month.

3.

Amount financed = Purchase Price – Down payment

$22,500 – $1,000 = $21,500

Total of monthly payments = # of monthly payments * Amount monthly payment

60 * $399.99 = $23,999.40
Total finance charge = Total of monthly payments – Amount financed

$23,999.40 – $21,500 = $2,499.40
N=60

I%=0 alpha solve 4.414543208

PV=21500

PMT= –399.99

FV=0

P/Y=12

C/Y=12

Interest rate is 4.41% (rounded to the hundredths of a percent)

4.

	
Month
	
Balance due
	
Interest
	Monthly Payment
	Reduction in balance
	Balance Outstanding

	1
	$7,000
	$7,000 * 0.03 = $210
	$700
	$700 – $210 = $490
	$7000 – $490 = $6,510

	2
	$6,510
	$6,510 * 0.03 =$195.30
	$700
	$700 – $195.30 = $504.70
	$6,510 – $504.70 = $6,005.30


(# 5 – # 6 see Slater textbook. TI-83/84 special keystrokes are not used for these problems)
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